ERETTME
www.chinaacc.com (HRZ{EHERFR)
KRBT A =455 E]
ERSHREPRSHIRMRAXS
A FHEZSTHERAFNR T BPEE RS

2024 (MSETR) 6% i RISETE R

F—EE. CFHENED BARASEE A=W, =P, 2023 FEF KR T:

(1) A P2 RAEBTHA = RE 128 15000 4, 2023 4E1HRIA = 12000 £, FH A BB AH 199. 5 6/4F, [ 2 A
KN 684000 7T, A FE SR IFITE PR BB 5%.

(2) HAEA kB HALE A AN R, 1T A 5 2000 £, FAY 290 7T/

ZOR[BIZ TR 41 ]

(1) AE AT, RS 2 &) B5R B AR 2y 20%, 4 A 2 PN e ik S RI P A 72 0 i 5
o

[EMZRY HHRIAN A PR =3 B A X (+ERBBEAFEZR) / A—EHARE) = (199.5+
684000/12000) X (1+20%) / (1—5%) =324 (JT)

o B X12000X (1—5%) — (199.5X12000+684000) = (199.5X12000+684000) X 20%, iHidfi# TS
=324 (5T)

(2) AHEHINTH, B P AR PRICER SR E 7P, RAREEMETE RN A 7 s &
B o

[ERERY tHIN A P2 SRR & A = CRAARB A + AL e A / (I—@EHFLRE) = (199.5+
684000/12000) / (1—5%) =270 (J5)

B BN X12000X (1—5%) — (199.5X12000+684000) =0, fEJ7FE45 B =270 (JT)

(3) 52 FRANAMT 5, 0S5 BER B AR S A ) 25%, K AR50 A IR e v B R AR A P2 i )
Hro FUWTH A A2 S ROZIEZZ BN, BB .

[ERZRY TFRIAN A P25 A = AT A X (I BRI RAFER) / (I—E&HBIER) =199.5X (1+
25%) / (1—5%) =262.5 (J5)

. A X (1—5%) —199.5=199.5X25%, fF5REHEAr=262.5 (JT)

RN BRI SAZEAMT B, B BAMT ERA LAY 290 Jom Tk RIS i At 262. 5 7.

FTEE.  GHEHTED FEAAEET — T E 5= 10, BN 1, BN 6 4, Harlih 64, %1
SEAIBETE 1000 Jio0, H 1 HFEREL 100 HuorEa % 4. SEME VIS RESN 500 oo, g5l e %
AN 50 Fi G, [E5E B F=IK IAE Y 10 576, YIRS BN ¥4 100 GG. WH R ARRA N 10%. Fifs
BiBLZh 25%.
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C&1: (P/A, 10%, 6) =4.3553, (P/F, 10%, 1) =0.9091
BR:
(D TR R A TR R IE
[EAZR]Y RIGHREHi=10004+100=1100 (Ji7T)
JE 4G5 IS = 1000+ 100X (P/F, 10%, 1) =10004100X0.9091=1090.91 (}j75)
(2) MEALE ISR
[ ERER]Y K4 EHRE=100+50— (50—10) X25%=140 (FF70)
(3) HETE.

PEnaR AL JiTG
0 1 2 3 4 5 6

HI S E
SRS =
ProlF I S &
ST HLF I A &
FIE
(QIRTESES |
PEmmR Bhi: JiTt

0 1 2 3 4 5 6
IS —1000 —100 500 500 500 500 640
RIS E —1000 —1100 —600 —100 400 900 1540
P 40 &= —1000 —90. 91 413. 2 375. 65 341.5 310. 45 361. 28
ST IR A 0
= —1000 —1090. 91 —677.71 | —302.06  |39.44 349. 89 711.17
EEREN 711. 17

(4 THEFESRTEEWOH. 2S48t RN

[ EmE R FFasE RIROH=3+100/500=3. 2 (4F)

A B =34302. 06/341. 5=3.88 (4F)

(5) THHEFESFRE.

[ EMERY F45FRE="11.17/ (P/A, 10%, 6) =711.17/4.3553=163.29 (Jijt)

B=IEE. GG AR TFHEEMERg, WIELPT AR B E R IT IR, —F1%I8 360 Kit5H,
TR B T BN 3240 1, WS B 800 Jo/ 1, AL A A 80 Ju/ 1, BRIRIT B IR B B A A 400
TG, AT BRI 2 AN 1500 TG

ER:

(1) HELFIT iR

[EER] L5T bR = QX FERER EE X U7 ARSI A/ AT B EFRA) ~ (1/2) =
(2X3240X400/80) ~ (1/2) =180 (ff)
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(2) AT RAET IR
[ B R]Y BFEmET R =1 IREREE/ 25T Tl E =3240/180=18 (0
() WHEAAEITREY.
[ ERER]Y BT 02 =360/ H 1T TRk E=360/18=20 (K)
(4 THHEEFITREFY S A E.
[EMER] KT e P SR & ="THEFEX LA SH RS =251 it /2 X £ I =
180/2X800="72000 (JT.)
(5) WHESAF I EA R A
[E#ER] SEFITIRER RIMFIEBBA = XAFIRF R ERE X BIRIT R R A X AT RS 74D
(1/2) = (2X3240X400X80) ~ (1/2) =14400 (J©)

FIERB. (LA FAFNETAF, MHAMELNE @R ARIE, HAEBWT: 2022 4] A R KA 8000
Jiot, FERIHME 1 Jc. 2022 4F 3 H 31 HEHIRABEERA], & 10 Wik 2 B, SRgm 5. ERar o w8
JBE% 8000 Jifl, A4 BLFIIE 16000 Jit. 2022 47 A 1 H, AwEEE@ELE 1000 F5ik. B IEHALY 8% s F
Tl

H AT 2022 ] IR ARG A 50000 J376, 2022 FESEILRENVI A 200000 J376, #§FiiE 10000 375, 2022 4F
AR 577 SRR AR SE A 4 R

HpL: JIT0

A0k AR RN A5 AN B AR A 3 R RN
Uidifh i 4000 il ATt 20000

ITLIES 16000 e it ATt 20000

171 10000 i &1t 40000

Mg a1t 30000 5 AR A 2 B vt 60000

MBI E 51t 70000

B et 100000 G R A ZS &7 (100000

202343 H 31 H, HWARRE 12 BT IS8, 2 #r 4  10600 3G

ER:

(1) 715 2022 45 3 A 31 HIEMK G B AT AR 75 Bl A .

[EMZE ST 2022 4F 3 F 31 HIERE AR =8000X (1+2/10) X1=9600 (/575)

KA BEFIE = 16000—8000X 2/10 X 1=14400 (J375)

(2) T 2022 AR N Habr: ORBIELE; O TE; @ RATIESN G @M.

[ IEARZ ] B2 =30000/20000=1. 5

K253 =100000/60000=1. 67

RATLESM B I B =8000X (142/10) +1000=10600 (/38

(3) 15 2022 FH W FHEdR: OBEMSERIZR; @S-, @EARRI .

[ ERZR] B R) 2% =10000/200000 X 100%=5%

SFERIFTA ERGE = (500004-60000) /2=55000 (J37T)

IR % =10000/55000 X 100%=18. 18%

RATAE S R 30 e AL 4 i %= 8000+ 8000 X 2/10+ 1000 X 6,/12=10100 (J5 1)

THE UL BT RO SRS SO B AR B e i B, BT DA, S T RS0 S R 384 00 P35 3 e A % 222 R B ) A
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BRI 2 =10000/10100=0. 99 (FT/K)

D WHERESRERW Tl OFKREE: QRITEINFERKE: O,
[EMER] §KRHE=1/2=0.5 (JO)

RATAE SN 8 B Er = 10600 X 2=21200 (5D

A =21200% 0. 5=10600 (J57T)

BHIEB. (ZAEED HATRRERHK AT EBBEA 25%, MHCE R :

(1) H 2w 2021 FEFESEBLERNE 1000 7T, 7 BCgA ARG AI Y 300 /57T, 1A Rl RATEAME 18 A AL
SEXIHC ) 5000 Fi R, 2021 AEAEREFMETTN A 5 0.

(2) WAF 2021 4 12 H 31 HEY B Gufst ARG B F R s o

A9) &8 (Jin) HHELR Bt A & R e & (i) H5HELR
M4 1800 9% AT K 2500 12. 5%
IVLIELSY 3200 16% R K 1500 ANiEH
itk 5000 25% KIAMER 3000 ANid H
] 72 5% 17000 FT B # A o 20000

Horpe IR A 5000
AgRSY 27000 Bt ST & AL 27000

(3) HAFIRASE G0 Lk sh s g % Fok &, @8R MEE A58 EWRA I & e A 7E.
Witz [l 2022 FEHA BN EL 2021 FE39K 50%, BN BRI N 37. 5%, i SFFIFNE (EBIT) Kk 2890 Jj
TG, AR A RFIANE EAE RS 2021 AEEAHR . 2022 1% 7 7 A AME 0 S %Y 5300 J T,

(4) R 2 2022 SEIAMB BT &R R, WA R A W N PR E 5T AT i
TR WREER, BT 4 00
TR AT R, RN 8%.

PR RIIAZEE TR ZA A BA SR RN 250 Ft.

BR

(D IHEHAF 2021 1) FHlFErR: ORI (RIEEFIZR) ; QFEERFR; @FKRH .
[EMZE]Y #HEIRN=1800/9%=20000 (J3JG)

YR ZE=1000/20000=>5%

i B AEZE=1—300/1000=70%

A =300/5000=0. 06 (7T/H)

(2) THEF AR 2021 KRB FHFENR: OFBSFE™: QMEE.

[ B R BB 5= =20000/5000=4 (JG/f%)

TR =5/4=1.25

(3 HHEHAF 2022 1) N HlFebr: OFEBEED:; @FMBETFHRE.

[ ERZRY FNEEEH=20000X (1+50%) X5%X70%=1050 (J570)

HIER R 75 SR B =20000 X 50% X (9%—+16%—+25%—12. 5%) +5300—1050=8000 (5 75)

(4) THE P FP T 7 B o 0 22 1 e (1) S BL TR, B F A )RR OB e 25 0 7 &
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[EMER]Y 7R3 5@ M I =8000/4=2000 (J5/)

J7 & R B 2 =8000X 8% =640 (JI7T)

5 B I W 25 TG 22 1) s i JE B B R 9 EBIT

(EBIT—250) X (1—25%) / (5000+2000) = (EBIT—250—640) X (1—25%) /5000
(EBIT—250) X (1—25%) X5000= (EBIT—250—640) X (1—25%) X (500042000)
(EBIT—250) X5000= (EBIT—250—640) X (5000-+2000)

EBIT X 5000—250 X 5000=EBIT X 7000—890 X 7000

EBITX (7000—5000) =890 X 7000—250% 5000

EBIT= (890X 7000—250X5000) / (7000—5000)

fitf3: EBIT=2490 (JiJ0)

BT S RTHRLE (EBIT) 2890 Jium, KT REMa Jo 227 s ) S BLRT A 2490 o6, Frbli#msERE TR,
Rl i 2 =
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